Andre,

I know this has been complicated and you've done a great job in ferreting out the possibilities of interpretation and organization.  We appreciate that.  I'll look over the revised lesson yet today and get back to you, perhaps not before tomorrow, though, because we have company tonight for dinner.

Briefly, I, too, like the 10-8 interp. of the Mozart but want to make sure it squares with a defensible Schenkerian reading -- even though such a reading remains in the "background," so to speak, away from students' view.

Regarding renotating the clarinet part in the Brahms example to be at concert pitch, I would say to do it, and to add a brief note to that effect.  That way around -- transposed clarinet part with note as opposed to untransposed clarinet part with note --  seems more convenient to me for the students.

I'll check exx. 18 and 19 when I go through the lesson, and will look through the exercises.  Perhaps Hajda could check those more carefully, so that I can focus on the reductive analyses and the overall flow (?).

Onward!

LR
-------------
Andre,

A few small things.

I would change this:

"the Bb clarinet, a transposing instrument, sounds a whole tone lower than written.  In other words, a C in the score is heard as Bb,..."

to read this way:

"the Bb clarinet, a transposing instrument, sounds a whole tone lower than written.  In other words, a C in the score SOUNDS as Bb,..."

~~~~~~~~~~~~~~~~~~~

I would change this:

"That G is suspended through the measure..."

to read:

"That G REMAINS IN EFFECT AS PART OF THE HARMONY throughOUT the measure..."

~~~~~~~~~~~~~~~~~~~~~~

I like the parent reduction in 19 of 18, and the accompanying, explanatory prose.

Let me think further about the Mozart (10-10 vs. 10-8) and I'll get back to you.  My inclination is to go with 10-8 but I want to consider the passage as a whole.

LR

-------------
Gents,

I don't have any comments beyond Lee's. He is the expert. I am concerned about the growing density and complexity of the discussion. Just what do we expect students to do with this information? Recognize a sequence and understand its function, of course. But beyond that?

Best,
John

-------------
John asks what the students should take away from this lesson:

    Recognize a sequence and understand its function, of course.

I think that's it.  What in addition would you want the lesson to aim at? We can try to shape it differently if there is another, overriding objective, or an additional one.

For all the time we've spent on the Brahms example, that's the one I'm most concerned about.  On reflection, I think the music is too complicated, and the analytical explanation makes it worse.  It's not that I don't like the ex.; I do.  But for this lesson:  I'm not sure.  If we need another example to take its place, I could come up with, or Andre could.

What do you think?

-------------
Hello Lee (and Andre),

I don't think that there should be any additional goal beyond recognizing a sequence and understanding its function. My concern is that the complexity of the lesson, especially the Brahms example, is obfuscating the stated goals. In other words, if Andre and, to a lesser extent, I, are not coming up with the best analyses, then we should revisit the example in question and our overall strategy.

So, I wonder if we should take a "cart-before-the-horse" approach in this lesson. In other words -- starting with "Descending Fifth sequences -- give the student the reduced sequence with an explanation of the LIPs and then highlight the relevant pitches in the musical examples that follow. That will direct their listening to the important structural pitches.

Thoughts?

Best,
John

-------------
Colleagues,

I agree with John and Andre, and I have let things get out of hand, with respect

to the main objective of this lesson, and moreover with the respect to the level

of our target audience.  I accept the responsibility here for not recognizing

that fact myself, and for not advising against some of the included examples and

suggesting others.  Andre made a great stab at what is, for reasons intrinsic to

the subject, a difficult lesson, especially given my directive to organize

around LIPs.  So, let's back-peddle a bit, reconsider the objective, and choose

examples accordingly that are realistic for our target audience.

The 10-7 LIP is the most common voice-leading implementation of the falling-

fifth sequence because, given the 10th as a harmonious outer-voice starting

point, the natural tendency toward falling-fifth root progression yields a

subsequent outer-voice 7th which, as an aurally conspicuous outer-voice

dissonance requiring resolution, impels the progression toward the next 10,

setting up the next cycle.  That said, to my mind we should begin the lesson

with a clear 10-7 under the rubric of falling-fifth sequences.  My recommendations

for exemplifying the 10-7 absolute clearly are:

FALLING-FIFTH/10-7

Bach, Sinfonia 11 (G minor), mm. 17-21

Bach, Sinfonia 15, (B minor), mm. 7-11 (perhaps even up to the

 downbeat of m. 14), and mm. 20-26

Handel, Harsichord Suite 14 (G major), Courante, mm. 5-10, mm. 17-21

Handel, Harsichord Suite 14, Menuet, mm. 50-56

Mozart, K. 332/i, mm. 61-66 (explaning the dcptv. cad. at 66)

Mozart, K. 570/i, mm. 117-123 (explaining the appoggiaturas)

Take your pick.

~~~~~~~~~~~~~~~~~~~

After demonstrating the falling-fifth/10-7, a few sentences should

explain, as I believe Andre already has, that the outer-voice LIP

intervals will change with the use of chord inversions, so that a

different chord member appears in the bass, and also depending

on the choice of chord member to occupy the treble. A common

alternative of the falling-fifth/10-7 disposition is the 10-5, exemplified

absolutely clearly in these examples:

FALLING-FIFTH/10-5

Bach, Sinfonia 12 (A major), mm. 21-24

Bach, Sinfonia 13 (A minor), mm. 37-41

Handel, Suite 12 (G major), Gigue, mm. 1 (end)-3 (beginning);

 mm. 13 (end)-15 (beginning; already included in the lesson);

 mm. 22 (end)-24 (beginning)

Mozart, K. 310/i, mm. 70-73

Mozart, K. 310/ii, mm. 44-45

~~~~~~~~~~~~~~~~~~~~~~~~~

The exx. for the ascending and descending 5-6s's, including their

root-position variants, can remain, I think.  Those seemed fairly

clear to me.  What is *not* clear, at least considering our objective

and targeted audience, are the initial Mozart example and the Brahms

example.  I would recommend that those be eliminated in light of

our purposes.  The Schubert example is pretty clear, I think, even

for our audience.  The Corelli examples seem good to me too, as

do the Bach exx. amid the varioius incarnations of 5-6.  The only ex.

among them that might be too difficult is Ex. 17, the Bach G-minor

fugue.  What do you think?  That's a root-position variant of the

descending 5-6.  Is there a simpler one?  Perhaps the Pachelbel itself!

That one has the added advantage of (near) universal familiarity.

Now, aside from the exx., let me say something about the sequence

descriptions, which may bear on the lesson's (re)organization--but

maybe not, or not in a major way.

The falling-fifth sequences are clear: 10-7 and 10-5 should be the

first covered, one after the other, with a note at the end explaining that other

bass and treble positions are possible, changing the LIP but not the

underlying harmonic foundation of the sequence.  Here, we might introduce

one fabricated example of a falling-fifth sequence with an outer-voice

disposition other than 10-7 and 10-5, just to illustrate the alert about

such versions.

Regarding the ascending 5-6 sequence, the chord-progression algorithm

is down-a-third/up-a-fourth.  If we're organizing the lesson around

root progression (not actual bass-voice movement!), then let's give

this sequence a descriptive, easily remembered name, such as "down 3

up four, where "down" is shown as a downward-pointing arrow, and

"up" as an upward-pointing arrow, with the two symbols separated by

a backslash (/).  We explain that this is the "down 3/up 4," symbolized

by "|3/|4."  Imagine those two vertical lines as having, respectively,

a down-arrow and an up-arrow attached to them.  It should be shown both

in the 5-6 version, where every other chord is in first inversion (here

you can see the contrapuntal 5-6 against the bass); and also in its

root-position variant, where we see the bass moving "|3/|4."

Regarding the descending 5-6 sequence (Mr. Pachelbel, G-d bless him),

the root-progression pattern (again, not bass-voice movement!) is

pairs of ascending fifths separated from one another by a diatonic

third (i.e. either M or m).  What can we call such a pattern in an

easily remembered label, and how can we symbolized it?  Five separated

by 3.  Maybe "5x3," read "5-by-3," meaning "5 separated by 3."  Too

far afield?  Can you think of something pithier?  In any case, the

"parent" descending 5-6 should come first, with 10ths in the outer

voices (and pointing out the successive 5-6 relationships between the

bass and an inner voice), followed by the root-position variant, where

the bass-voice movement is literally "5x3" (or however we call/symbolize

it.

Finally, there's the ascending fifth sequence, in which the root-movement

(and bass-voice movement) is consistently ascending fifths (C-G-D-A).

We can call this simply "ascending fifths," symbolized by "|5," where

that vertical line has an upward-pointing arrow on it.  It should be

explained that in conventional diatonic music, the sequence doesn't

run through more than four cycles, C-G-d-a-e, because the next chord

would be B-diminished, and that becomes problematic:  the next diatonic

fifth would be diminished.  The most famous example of the ascending

fifth is in the last movement of Beethoven's "Waldstein" sonata (op. 53),

at mm. 17-19 of the Prestissimo section at the end of the (last) movement.

There, Beethoven does:  C-G-d-a-[e-b?]-F (!), skipping the e-b cycle because

of the diminished chord on B.

How does all of this sound?

LR

-------------
I think that Lee has provided us with a great outline for the lesson.

Yes, we should start with falling/descending fifth. For some reason, I am more accustomed to "falling", but I'll go with whatever C&M say.

I like the idea of using Pachelbel. Will be familiar to anyone who has played a wedding.

If we are going to use up-and-down arrows and backslashes for the ascending 5-6 and ascending fifths sequences, then I think that we should use similar symbols for the descending 5-6 sequence (down 4/up 1?). We can use text to explain that down 4/up 1 actually equates to ascending fifths separated by a descending diatonic third.

For the ascending fifth, the Waldstein is solid.

As a final amendment, it would be great to have some kind of notation underneath the Roman numerals that shows the origins and goals (i.e. function) of each sequence. So I6--->I, or whatever, would appear as a second -- or third, if we also include LIPs -- line of analysis. I guess this would make the most sense if this were in the reduced version of each example.

Best,
John

-------------
OK on this:

    I think that we  should use similar symbols for the descending 5-6

    sequence (down 4/up  1?).

But I definitely think that we need this:

    text to explain that down 4/up 1

    actually equates to  ascending fifths separated by a descending diatonic

    third.

~~~~~~~~~~~~~~~~~

Yes, so here is the modification to my original algorithm: down 4/up 1. That's what it really is in notation, a series of descending fourths with a step in between.  That description differentiates this descending 5-6 from the ascending-fifth sequence (of the sort in op. 53).  So, "|4/|1," with the necessary attendant down and up arrowheads attached to the vertical lines.  How's that?

Lee

-------------
Andre,

Much of the lesson can remain intact, and even where there are changes -- elimination of the initial Mozart ex. and the Brahms ex. later in the lesson, in addition to a bit of reordering -- the prose can be modified, rather than rewritten from scratch, I would think, to reflect new examples. The ones I suggested for 10-7 and 10-5 are pretty clear, so I think they should be used.  Choose the absolute clearest ones from the lists I sent.

I'm sorry for not following my intuitions earlier and instead getting involved in working out analyses that are true to the music, locally and globally, and at the same time as clear as possible for our target audience.  It just wasn't working, though, so I think this change is needed and will improve the lesson.

I like the idea of including an indication showing the overall purpose (function) of the sequence:  prolonging a single chord, or moving from one functional chord to another one, with the harmonic action in between subordinated to those two framing harmonies.  Ah: "framing harmonies" is perhaps a good expression that could be used throughout.

LR

-------------
I agree with Lee, Andre. Much of what you have is great. You'll just need to replace some items, move others around and adjust the prose as necessary.

The term "framing harmonies" works for me.

-------------
Lesson SSS: Diatonic Sequences

Introduction:

Very frequently in tonal music, we encounter passages such as the following, where a harmonic pattern coupled with a melodic one repeats at different pitch levels.  An example of this appears in the following Mozart sonata, beginning in m. 63:
Example 1 (W.A. Mozart, Piano Sonata in C major, K. 545, Mvt. I, mm. 61-71):
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Following a half cadence in m. 62, we find a series of arpeggiated triads. Comparing m. 63 with mm. 64, 65, and 66, we find that the pattern repeats in each measure, the only differences being the pitch level of each repetition. In the right hand, the pattern begins on G in m. 63, then repeats on F in m. 64, then another step down on E in m. 65 (transferred up an octave), and finally on D in m. 66. In the left hand, the repeated pattern begins with upward arpeggiated chords on E and F in m. 63, then a step down, on D and E in m. 64, then C-D and B-C in mm. 65-66.  Harmonically, the pattern ends right where it began: with a I chord. With that in mind, we can consider the entire passage from mm. 63-66 to expand tonic harmony, bringing dramatic weight to the authentic cadence that follows in m. 71.
When successive repetitions occur at different but predictable pitch levels, as in Example 1, the patterning is called a sequence. Sequences appear with greatest frequency in music from the Baroque, but appear in every era of the common practice period. As we will discuss in this lesson, sequences function in a number of ways, but always derive from a handful of basic interval progressions. (See Lesson 1 for review of basic interval progressions.)
We will begin with a brief discussion of the general nature of sequences and will then proceed with an examination of some common variations on the basic principles.

The nature of sequences:
Composers generally employ sequences to either expand a single harmony—as we saw in Example 1—or as a transitional device from one harmony to another, sometimes from one key to another. In all cases, identifying the function of a sequence depends on a listener’s ability to recognize the repeated pattern in context. Generally, we first hear the repetition in the contour of the leading melodic voice. But these repeated lines or motives are always linked to strong harmonic progressions, which in turn derive from basic interval progressions.
Sequences are based on the same harmonic progressions that appear everywhere in tonal music. Progressions in which the chord roots descend by fifth are by far the strongest and most frequent, but ascending-fifth and descending- and ascending-third progressions are also quite common. In this sense, sequences are an extension of basic tonal practices expressed in a unique way.
Look again at the harmonic progression of the sequence in Mozart’s Piano Sonata, K. 545.
Activity SSS.01:

Identify each of the harmonies in this sequence (mm. 63-66). Be sure to specify if a chord appears in inversion.
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[Answers: m. 63 = I6 and IV; m. 64 = viio6 and iii; m. 65 = vi6 and ii; m. 66 = V6 and I (case indicates chord quality). Response for each correct answer: “Correct!” Response for each incorrect answer: “Incorrect. (Remember to use uppercase letters for major chords and lowercase for minor.  Also, use a degree sign “o” to indicate a diminished triad and a “6” to indicate a triad in first inversion.)”]
The following example shows the harmonic progression of the excerpt from Mozart’s Piano Sonata, K. 545.

Example 2 (W.A. Mozart, Piano Sonata in C major, K. 545, Mvt. I, mm. 61-71):

[image: image3.png]I
|
-

7™

61

|

<

IV

T
T
N ﬁu
QO | o~
i/
o~ |
)
L}
L)
W
9
o~ |
) |
9 J,Lw
Q|
¢
Q|
o~ ]
¢
o
o/
o~ |
Y
¢/ I~
NG
._4 NO®
N &L
IS
Q)
Q)
SR
Q
M N C \

11

1

V1

1

vil

Ul
ﬁﬂ.@
T
Q
Tl
\ T
.
Tl
Y T
.
Tl
\ T
.
Tl
510 ol
| LY
| (Y
Y
N
LY
¢ ¢
Nl Y
(Y8 il
'l Vil
o | el
« Y
# #P
L; ‘"
Y
LuL AL
%
LT e
A “
LT o
il
%
lnfv* i va v
il
o/% nlnmw\v W.hl,
N

S on

\Y

vii /V




The root of each successive triad, starting with the tonic chord in m. 63, is a fifth lower than the previous one: I – IV – viio – iii – vi – ii – V – I. (Note that some of these descending fifths are expressed as ascending fourths. This is done to avoid too low of a register.) Here, the sequence traverses an entire cycle of descending fifths, from tonic back to tonic. This is common—particularly with descending-fifth sequences—but most sequences consist of only three to five repetitions since completing an entire cycle can become tedious.. 
Note: This sequence and the others considered in this lesson are diatonic: all of the chords are native to a single key. Because the repetitions are not literal, you will find some variation in quality. The triads in m. 63 of Example 2 are both major, while those in m. 64 are diminished and minor. Regardless of the changes in quality, the similarity of the melodic contour is explicit enough for the listener to recognize the repeated pattern.

Another consequence of using only diatonic chords is the inevitable inclusion of diminished and augmented intervals. Composers negotiate these dissonant sonorities in several ways, as you’ll see from the various examples in this lesson. In Example 2, Mozart conceals the diminished-fifth root motion from F down to B as IV moves to viio by alternating between root position and first inversion chords.
In addition to considering the repeated material—melodic and harmonic—it is essential that you be able to recognize the underlying outer-voice interval patterns that form the basic structure of sequences. In multi-voiced settings, look to the outer voices for these governing progressions. The following example provides a reduction of the sequence in Example 2, showing the successive intervals formed by the highest and lowest voices:
Example 3 (reduction of W.A. Mozart, Piano Sonata in C major, K. 545, Mvt. I, mm. 63-66):
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[Which one of these would be better: [image: image5.png]10
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With each change in harmony, the outer voices form a series of tenths. Mozart enhances the pattern of tenths by leaping down by seventh to the second tenth of each measure, and also by transferring the pattern to a higher register in m. 65.  However, the underlying principle is common. (These patterns are sometimes referred to as linear intervallic patterns, or, LIPs for short.) Each of the sequences discussed in this lesson can be similarly analyzed as LIPs.
Descending-fifth sequences:

Sequences in which the chord roots descend by fifth are common enough that they should be instantly recognizable by ear. Compare the following excerpt with the Mozart from above. (Note: In the following excerpt, the Bb clarinet, a transposing instrument, sounds a whole tone lower than written.  In other words, a C in the score is heard as Bb, a D as C, an E as D, and so on.)
Example 4 (J. Brahms, Clarinet Sonata in E-flat Major, Op. 120, no. 2, Mvt. I, mm. 160-169):
[image: image7.png]pm——

160

|||V I —
| BLIIL A.I ( it i
» U Calal] w
k) NI TN g 18
> i
* ||¢|I_|' Awt .ll
] .
u// Illl‘ o ~ I |
/ o LY HA, 7W
NS
_ u iy iy
A 1 [wael — g N
& = 9
= il ol o 1 o
L\ _ N IS NS | HEER
==
NOp L AL N
~ . B HEL B
Awt LD\”\A\ * .vll
I - v 1
| ENEE
x * P Ty \ A~ * .vl\_
it | || _ I_WI “H N IBL
i -
a TN N Qe8| | ~C 179
| Q| BL ) 7 .
i va Ve |
%
|| o N
. -
1] v A | | 'l _|W| » ]
--Mw d I S WA ™ "= TN
‘ A T .| N,
™ |¢|||4 .
| 7Y AN N i
g L1 HE e |
L[] sl i v me
| 3 s .
NG o || s/ |[Hs i
N e’ > y
& & TN ol 2 oo 7
.m ~—————— ~——————
k=
Q)





Despite some superficial differences, these two passages have a very similar sound. In this case, however, the sequence extends only from the initial tonic to the vi chord in m. 164. The pattern is then broken when the harmony moves to a IV7 chord (part of the pre-dominant area leading to an authentic cadence). Additionally, starting with the IV7 in m. 162, each harmony is adorned with a seventh above the root. Whereas sevenths appearing above iii and vi chords would not typically be considered chord tones, in this case they are included by virtue of the sequence’s repetition.
Now consider the interval progression formed by the outer voices. Example 5 provides a reduction:

Example 5 (reduction of J. Brahms, Clarinet Sonata in E-flat Major, Op. 120, no. 2, Mvt. I, mm. 162-164):
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Similar to the sequence in Example 2, this passage proceeds through a series of parallel tenths. On the downbeat of m. 162, the highest voice in the piano (G) sounds a tenth above the bass (Eb).  That G is suspended through the measure (moving to an inner voice in the clarinet, just before the third beat) and becomes a seventh as the bass leaps up to Ab.  The alternating tenths and suspended sevenths continue until m. 164 where the IV7 chord breaks the pattern. At that point, the expected bass note F—the note that would appear were the sequence to have continued—is delayed until m. 165, where the seventh (Eb) finally resolves to D (written as E) on beat four in the clarinet.
Note as well that even though each chord in this sequence appears in root position on a strong beat, the tritone between Ab and D that arises between the roots of the IV and viio chords is obscured by the intervening inversions that appear on the second and fourth beats of every measure.
Descending-fifth sequences are particularly prevalent in music of the Baroque era. The following excerpt from a harpsichord suite by Handel makes great use of this device:

Example 6 (G.F. Handel, Harpsichord Suite no. 12, Gigue, mm. 13-16):
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Beginning with the vi chord on the anacrusis to m. 14, a series of arpeggios in the left hand outline a descending fifth sequence through the remainder of that measure. In m. 15, the descending-fifth harmonic pattern set into motion by the sequence continues through V, I, and IV, despite the altered melodic pattern in the bass. At this point, the sequence is broken off, leading to an authentic cadence. Sequences such as this—which complete an entire lap around the circle of fifths and then some—are commonplace in Baroque music but were generally considered monotonous by later composers.
Activity SSS.02:

The out-voice interval progression is particularly clear in this sequence.  Beginning with the vi chord in m. 13 and going through the IV6 in m. 15, what is the LIP between the outer voices?
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[Answer: 3-5 or 5-3. Response if correct: “Correct!” Response if student enters “5-3”: “Good! The outer voices alternate between thirds and fifths. (Keep in mind that in this case, the sequence begins with a third between E and G.)” Response if incorrect: “Incorrect. (Hint: Look at the lowest note in each arpeggiation in the left hand.)”]
The outer-voice interval progression is particularly clear in this example. A series of suspensions in the upper voice create a pattern of alternating thirds and fifths with the bass:

Example 7 (reduction of G.F. Handel, Harpsichord Suite no. 12, Gigue, mm. 14-15):
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The following excerpt from a Schubert impromptu also includes a complete cycle of descending fifths, this time in a minor key:
Example 8 (F. Schubert, Impromptu in E-flat, D. 899, No. 2, mm. 23-35):
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Following a cadence in m. 24, Eb major becomes Eb minor with the addition of Gb (and, subsequently, Db and Cb). The descending-fifth sequence that follows, beginning with iv in m. 26, completes the cycle from the initial i chord to the tonic in m. 32. Harmonically, the iv chord in m. 33 continues the descending-fifth series, but by then, the melodic pattern in the upper voice is broken. 
Sequences in minor keys, in addition to the extra tritone between scale degrees 2 and 6, bear the added complication of the harmonic and melodic composites of the scale. (See Lesson 3 for more information on the harmonic and melodic minor composites.) Typically, in a minor-key sequence, scale degrees 6 and 7 are left in their diatonic form, appearing in their raised form only at sequence-ending cadences. Notice that in mm. 25-30, every instance of scale degrees 6 and 7 is diatonic (Cb and Db, respectively). Using diatonic 7 avoids the diminished triad built on the leading tone. It is only with the V chord towards the end of the sequence (m. 31) that we find the raised leading tone, effectively signaling the end of the sequence.
Now, let’s look at the outer-voice interval progression:

Example 9 (reduction of F. Schubert, Impromptu in E-flat, D. 899, No. 2, mm. 25-32):
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As Example 9 shows, this excerpt is based on the type of interval progression already familiar from Example 5: tenths becoming suspended sevenths. After the initial Gb is heard in m. 25 as the third of the now minor tonic, the upper voice leaps up to Cb in m. 26.  That Cb is heard again in m. 27, though there it appears as a seventh above the new bass (Db). (This suspension is indicated with a tie in the reduction.) The pattern is then repeated in mm. 28-29, and again 30-31, leading back to Gb and the minor tonic in m. 32.  The entire sequence prolongs the initial Gb of m.25 all the way through to m. 32 (indicated by the large tie over the entire passage).

Other outer-voice interval progressions are possible as well. The progression that defines a sequence depends, in large part, on which of the upper voices appears on top. Below is one example of a four-voice, descending-fifth sequence. Consider the interval progressions formed by each of the upper voices with the bass:
Example 10:
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Activity SSS.03:

Identify the LIPs between the outer voices of the following sequence. (Example: Enter “10-7” for a LIP that alternates between tenths and sevenths, beginning with a tenth.)
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Exercise SSS.03a:

What is the LIP between the outer voices?

[Answer: 6-10 or 6-3.  Response if correct: “Correct!” Response if incorrect: “Incorrect. Try again.”]

[First follow-up questions:]

As written, the outer-voice LIP of this sequence alternates between sixths and tenths.  But any of the upper voices could have been written on top.  It is important that you be aware of LIPs between inner voices as well for this very reason.

Exercise SSS.03b:

What is the LIP between the alto and bass?

[Answer: 10-8 or 3-8 or 3-1.  Response if correct: “Correct! The alto and bass alternate between tenths (compound thirds) and octaves via a series of suspensions.” Response if incorrect: “Incorrect. Try again.”]

Exercise SSS.03c:

What is the LIP between the tenor and bass?

[Answer: 6-5.  Response if correct: “Correct! The tenor and bass alternate between sixths and fifths via a series of suspensions.” Response if incorrect: “Incorrect. Try again.”]
In Example 10, successive harmonies alternate between first inversion and root position. The soprano voice yields a “6 – 10” pattern with the bass, while the alto and tenor yield “10 – 8” and “6 – 5” patterns with the bass respectively. Again, the LIP will vary depending on which chord member the composer places in the soprano.  The sequence could, of course, also begin with a root-position chord: I – IV6 – viio – iii6 – etc., which would likewise affect the outer-voice intervals of the LIP.
Other outer-voice progressions are made possible by adding sevenths to each chord or by arranging them all in root position.
Activity SSS.04:

The following excerpt from a harpsichord suite by Handel (Suite No. 1 in A, HWV 426, mm. 39-41) has a descending-fifth sequence in mm. 39-40.  Identify the harmonies in the key of A major on each beat of mm. 39-40:
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[Answers: m. 39 = ii – V – I – IV; m. 40 = viio – iii – vi – ii (case indicates chord quality). Response for each correct answer: “Correct!” Response for each incorrect answer: “Incorrect. (Hint: The chords on beats one and three of each measure are missing their fifths. Also, the second of each group of three eighth notes is a nonharmonic tone.)”]
[Followup-question:]

Now that you’ve identified the progression as a descending-fifth sequence with root position harmonies, identify the LIP between the outer voices.

[Answer: 10-7. Response if correct: “Correct!” Response if incorrect: “Incorrect. (Hint: In this case, the upper voice consists of dotted quarter notes suspended into the next beat.)”]
Ascending-fifth sequences:

Ascending-fifth sequences are far less common than their descending root-motion counterparts. Nonetheless, they do appear with some frequency and have a decidedly different effect. Consider the following example:
Example 11 (A. Corelli, Sonata no. 11 from Sonate da Camera a Tre, Op. 4, Corrente, mm. 18-27):
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The melodic figure in m. 20 is passed back and forth between the bass and uppermost voice with every change in harmony. Starting with the tonic chord in m. 20, the harmonic progression ascends by fifth in each subsequent measure: I – V – ii – vi. In m. 24, the root of the chord is again a fifth higher, but the pattern is broken by the altered melodic line in the upper voice. 
Note as well that m. 24 introduces B natural. That chord, initially heard as V/vi in Eb major, turns out to be an auxiliary sonority prolonging the C-minor chord of m. 23, which in light of the ensuing cadence in G minor is retroactively interpreted as iv in that key.

Activity SSS.05:

Beginning with the I chord in m. 20 and going through the vi6 chord in m. 23, what is the LIP between the outer voices? (Hint: Look at the notes on the downbeat of each measure, ignoring, for the moment, the decorations that appear above and below.)
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[Answer: 3-6. Response if correct: “Correct!” Response if incorrect: “Incorrect. (Hint: The primary notes of this LIP are found on the downbeats of each measure. Don’t be distracted by the decorative eighth notes that appear above and below later on in each measure.)”]
Looking at the outer-voiceleading reduction, we again see a familiar interval progression:

Example 12 (reduction of A. Corelli, Sonata no. 11 from Sonate da Camera a Tre, Op. 4, Corrente, mm. 20-23):
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Here, the root-position chords have a third above the bass while the first-inversion chords have a sixth. “3 – 6” interval progressions are also very common. Note that in contrast to descending-fifth sequences, in which the overall motion descends, here the overall motion ascends.

The beginning of Bach’s Little Prelude in C Major, BWV 924, begins with an ascending-fifth sequence (Example 14 provides a reduction):

Example 13 (J.S. Bach, Little Prelude in C Major, BWV 924, mm. 1-3):
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Example 14 (reduction of J.S. Bach, Little Prelude in C Major, BWV 924, mm. 1-3):
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Throughout the passage, Bach uses suspensions and other techniques to smooth out the ascending-fifth progressions. In m. 1, the V chord is introduced as the continuation of a bass arpeggiation of I. The suspended fourth (C on beat 3) resolves on the fourth beat as the upper voice makes a consonant skip up to the root of the triad. That voice is then suspended as a dissonant fourth into the next measure before resolving to the tenth above the bass and repeating the pattern. The basic framework of this sequence, then, is a series of alternating tenths and fifths.
Again, other interval patterns are possible (e.g. “10 – 8” and “10 – 10”) with ascending-fifth sequences, depending on whether chords are inverted, and on what chord member appears in the uppermost voice. 
Descending- and ascending-“5 – 6” sequences (sequences based on thirds and seconds):

Sequences in which the harmonic units move by seconds or thirds run a greater risk of creating parallel fifths and octaves than those that move by fifths. For this reason, composers often include intervening chords to break up the parallel motion.

The following excerpt from Beethoven sonata shows a descending-third sequence in which intervening chords appear in first inversion:

Example 15 (L. Beethoven, Piano Sonata in E Major, Op. 109, Mvt. I, mm. 1-3):
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Each step in the chain of descending thirds appears on the second beat of its measure: I – vi – IV. Between each step, however, the chord roots move down by fifth: V6 is inserted between I and vi, iii6 between vi and IV. These secondary chords—along with the weak metric placement and melodic figuration—obscure the parallel fifths between each step in the sequence. The following reduction clarifies:

Example 16 (reduction of L. Beethoven, Piano Sonata in E Major, Op. 109, Mvt. I, mm. 1-3):
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As this reduction shows, alternating between root position and first inversion produces a desirable effect: a stepwise descending bassline. The intervening chords (V6 and iii6) break up the parallel fifths that would normally result from successive descending third root motions. The result is a series of fifths suspended to become sixths as the bass steps down on the downbeat of each measure. The descending “5 – 6” technique was a popular contrapuntal strategy in the Renaissance and was continually used in later music.
In the following excerpt, the order of harmonies (i  - V – VI – III – iv – i) is virtually identical to Example 15, though here they all appear in root position:

Example 17 (J.S. Bach, Fugue No. 16 in G minor, BWV 861, mm. 24-28):
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An authentic cadence in G minor initiates a descending-third sequence in m. 24 of this fugue by Bach. Again, each step in the chain of descending thirds appears on the second beat of its measure (i – VI – iv) with intervening chords on the downbeats. These secondary chords—along with the weak metric placement and melodic figuration—obscure the parallel octaves between each step in the sequence. (The parallel octaves appear on beat four of each measure between the bass and the inner voice.)

The following reduction removes some of the melodic figuration to clarify the voiceleading:
Example 18 (reduction of J.S. Bach, Fugue No. 16 in G minor, BWV 861, mm. 25-27):
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As Example 18 shows, there are four voices present throughout this sequence.  Between the outer voices—the “bass” and “soprano” of the reduction—we find tenths on the upbeats alternating with fifths on the downbeats.  Because tenths correspond with the main harmonies, we can think of this as a “10 – 10” sequence with intervening fifths.

Activity SSS.06:

As we saw in Example 18, shown below, this Bach fugue finds the outer voices alternating between tenths and fifths.  But take note of the inner voices.  What LIP is formed by the “tenor” and “alto” of this reduction?
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[Answer: 5-6. Response if correct: “Correct!” Response if incorrect: “Incorrect. Try again.”]
But take note of the LIP appearing between the “tenor” and “alto.” On the upbeat to m. 25, the alto (D) forms a fifth above the tenor (G).  The D is held as the tenor steps down to F forming an oblique “5 – 6” interval progression.  This pattern then repeats twice more.  This inner-voice interval progression is the same one we saw in Example 16: a descending “5 – 6” pattern.  Because this pattern is so recognizable, sequences such as the one found in Example 17 are often referred to as root-position variants of the descending “5 – 6” technique. The following example shows the common “5 – 6” structure from which this sequence derives:
Example 19 (“5 – 6” parent reduction of J.S. Bach, Fugue No. 16 in G minor, BWV 861, mm. 25-27):
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Note: Reductions like the one found in Example 18 may at first seem very unrelated to the original passage. Likewise, reducing such passages can seem a daunting task. Don’t be discouraged by the apparent complexity of multi-voice sequences. Your ability to identify voiceleading structures will improve with practice and your familiarity with common patterns, like those discussed in this lesson, will be of great help.
In the following excerpt from the fourth of Vivaldi’s Four Seasons concertos, first-inversion chords mediate between each step of an ascending-second sequence:
Example 20 (A. Vivaldi, Violin Concerto in F Minor, Op. 8, no. 4 (“Winter”), Mvt. II, mm 11-13):
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Like sequences based on thirds, ascending-second sequences often make use of intervening chords to break up parallel fifths and octaves. The IV chord on the downbeat of m. 12 initiates the sequence (IV – V – vi) with intervening chords on the weak beats. The intervening chords appear in first inversion, preserving the stepwise motion of the bass. The following reduction reveals the outer-voice interval progression and how the intervening chords obscure the parallel fifths:
Example 21 (reduction of A. Vivaldi, Violin Concerto in F Minor, Op. 8, no. 4 (“Winter”), Mvt. II, mm 11-13):
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The ascending “5 – 6” motion seen in this reduction is remarkably similar to what we saw in Example 16. The only difference is that here the voices ascend instead of descend. The resultant sixths approach each subsequent fifth with oblique motion. Such interval progressions are often referred to as ascending “5 – 6” LIPs.
In the following excerpt begins with an ascending-third sequence starting with the V7 chord in the first measure:
Example 22 (A. Corelli, Sonata no. 11 from Sonate da Camera a Tre, Op. 4, Allemanda, mm. 1-5):
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This ascending-third sequence features an ascending stepwise line in the uppermost voice.  Again, intervening chords break up the inevitable parallel fifths. Note that while parallel octaves do appear on the downbeats between the bass and the middle voice, they quickly skip up to tenths on the second beat of each measure.
Looking at the reduction, we can see how the mediating chords break up the parallel fifths:

Example 23 (reduction of A. Corelli, Sonata no. 11 from Sonate da Camera a Tre, Op. 4, Allemanda, mm. 2-4):
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Instead of moving directly from one fifth to the next on the second beat of each measure, thirds intervene on the downbeats, changing the parallel motion to contrary motion. This results in the ascending stepwise motion of the entire upper line.  If we consider the partially concealed inner voice, however, we find a familiar pattern:
Example 24 (reduction of A. Corelli, Sonata no. 11 from Sonate da Camera a Tre, Op. 4, Allemanda, mm. 2-4):
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Consider the interval progression formed by the inner voice and the upper voice.  On the anacrusis to m. 2, we find the upper voice (D) a fifth above the inner voice (G).  The G is held into m. 2 while the upper voice steps up to Eb forming a sixth with the inner voice.  The pattern then repeats.  This is the same LIP we saw in Example 21!  In this case, however, each of the harmonies appears in root position.  You can think of this pattern as a root-position variant of the ascending “5 – 6” technique.
Conclusion:

Sequences consist of melodic and harmonic patterns repeated at different pitch levels, which, after a few repetitions, become predictable. Diatonic sequences rely on the listener’s ability to recognize the basic design of the patterns, since the qualities may change from step to step in conforming to the key. Composers use sequences in a number of ways, primarily to prolong a specific harmony or to move from one harmony to another. This lesson focused on non-modulatory sequences, but sequences can also be designed for modulating.
Each step of a sequence—that is, each cycle of the pattern—is successively transposed at a specific interval until the harmonic goal (or key) is reached.  The root movement in a majority of sequences is by descending fifths (or ascending fourths), which reflects the general prominence of descending-fifth root motion in tonal music. Some sequences proceed by ascending fifths, others by ascending or descending thirds or seconds.

Significantly, the voiceleading of sequences follows the same basic interval progressions that govern all tonal music. Being able to recognize these patterns in a sequence is an important part of understanding how they work. (It is not important to memorize all of the possible interval patterns that form the skeleton of the various sequence types.) These outer-voice intervallic patterns (LIPs) are determined partly by which chord member appears on top, and partly by whether all chords appear in root position or alternate between root-position and first-inversion.

